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w4 HH1:
1.87 x 50% = 4.51 x 80% =
6.81 x 70% = 9.26 x 60% =
7.3 x40% = 0.73 x 30% =
7.51 x 10% = 6.83 x 40% =
2.37 x 80% = 7.48 x710% =
7.11 x40% = 547 x 60% =
7.87 x 10% = 5.36 x70% =
6.28 x 10% = 1.02 x 30% =
9.34 x 30% = 9.67 x30% =
6.71 x 70% = 4.97 x 10% =
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1.87 x 50% = 0.935

6.81 x70% = 4.767

7.3 x40% = 2.92

7.51 x10% = 0.751

2.37 x 80% = 1.896

7.11 x 40% = 2.844

7.87 % 10% = 0.787

6.28 x 10% = 0.628

9.34 x 30% = 2.802

6.71 x70% = 4.697

H -

4.51 x 80% = 3.608

9.26 x 60% = 5.556

0.73 x30% = 0.219

6.83 x 40% = 2.732

7.48 x710% = 5.236

547 x 60% = 3.282

5.36 x70% = 3.752

1.02 x 30% = 0.306

9.67 x 30% = 2.901

4.97 x 10% = 0.497
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